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Question No. 24

Two forces are: (F1 =90 N up) & (F2 = 90 N, right). The magnitude of the resuftant (R) is nearh
ON

*90N

180 N

127N
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auwstonsa 1 ]
Forn1 = 0.6789, n2 = 0.067890, n3 = 0.607890, and nd = 607.89, the number with equal significant figures.
are:

© n1and n2
© n1and n3
& n2and n4

n3 and n4

e

0652315
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© 200 million beats

Boam |-
© 20 million beats | 11
© 20 billion beats

1%

¢ 2 billion beats

229239 248 24}
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| Three forces are: (F1 =63 N, r:};st), (F2 =42 N, west) & (F3 = 13 N, west). Their resultant (R) is

® 24 N, east
©79 N, east
Y8 N, west
8 N, east
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2.54 cm; a distance of 20 ft is equalto:

» L .
A A A
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Exp?ess 1
|
|#394'cm
©3940 cm
©254 cm
#2540 cm

000'in. in centimeters (1 . = 254 cm):
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Example of a scalar is:

« weight

« distance

» displacement
e acceleration
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| The dimensions of (masé/speed) is:

oMLY
© ML'T
oML

© MLT
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”\Qucsﬂon No. 20
| The thickness of 2 120.
estimated as-

© 0.08 mm
© 0.01 mm
© 0.8 mm

© 0.04 mm
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ki 4 o 28| At 34

Quinton e 19

The number of decimal places In (0.012)1s
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achonfific notation wo write the number 222 1 a8

0221 % 107
22110

3221 % 10"
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“Good precision” is an instrument’s ability 10 give fneasurerments that are

randorm
» always scallered
dly close to each other
catedly far from each other
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' Question No. 4

A concentration of 114 micrograms/milliliters (114 pg/mL) is equivalent to:

| 911401
© 00114 gL
© 114 gL
© 0.114 gL
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Quastion No. 16

If ris a length, v is a spood and ¢ is time, the oguation v - k¥

7t is dunensionally correct if k has the dimension of
LT

LY
n
1

Scanned by CamScanner



i PARY 2 Yig) = STC line
+966 54 744 3172 >

0o AT Y- 14/) /0

bilugll JS

.J.J_“—'J:\ : m_mm_

M

Scanned by CamScanner



| Total questions in exam 25 [ Answered 22

Question No. 18

A cylinder of platinum-iridium, kept at the Bureau

o kilogram
» meter

» pound

second

of weights and Measures in France, gives the standa

rd of:
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avespone. 17
Of the following S! units, the only derived unit is:
@ newton
o ampere
meter
kelvin
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Total questions in exam: 25 | Answered: 2

Question No. 24

Which of the following is a derived SI quantity?

~ length

electric current
force
temperature
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Question No. 15
5m.

has an average radius r = 0.25 km and average depth h

A lake with approximately circular surface
The volume V = xr*h of this lake in liters(L) is approximately:

@ 10”L
® 10'L
10°L
10°L
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aeston Mo, 12
Jimensionally comect if w equals

b o, A s v eV i vl (e cquation A.p < £V 156

6

[ sov & e |
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gtance ight travels 2 1 year, oo yesr =3 * 1 5, and
s @108 ) o light-year approxinately

rone tigyesr (42225 the
el lof Sk Ju ==
{ditaoce  speed )

o 10¥m

0 10%m

a10%m

o 10%m
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il qutons m e 15 | worss. 18

Guestion No. 11

You bought a car for 90500 Saudi riyals (SAR). In order-ol-magm(ude this price IS about:

SAR 10*
SAR 10°
SAR 10°
SAR 10°
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An bbject will have a zero acceleration if:

e only the speed is constant

¢ only the direction is constant

¢ both the speed and direction are changing
¢ both the speed and direction are constant
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Exp?ess 1
|
|#394'cm
©3940 cm
©254 cm
#2540 cm

000'in. in centimeters (1 . = 254 cm):
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r
| aueshon o 2

| The dimensions of (masé/speed) is:

oMLY
© ML'T
oML

© MLT
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| Three forces are: (F1 =63 N, r:};st), (F2 =42 N, west) & (F3 = 13 N, west). Their resultant (R) is

® 24 N, east
©79 N, east
Y8 N, west
8 N, east
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/’....,......, )
| Express 1000°in. in centimeters (1in. =

2.54 cm): :

| #394 cm
©3940 cm
©254 cm
#2540 cm
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g 7. 5 from 25,5f8 is oorrééﬂ& wril

clstssion wo. 22 1 Wy A
When making measurements; the result of subtractin

18.078
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Question No. 23

EENEE s

The distance from Madinah to Riyadh is measured to be accurately 830'km. The number of significant figures in this meastrement is- e
-
% 1 O [0 Vanee

®2
93
04
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autstonNo. 21
The percent uncertainty in the measurementm = 225%05gis

0 1%
02%
5%
3%

Scanned by CamScanner



PhyswcsVOu\Z1_Sem1_201

L_"-.m-nm-i' 28 | Answered 23

Question Na. 20
~143 N, east) & (F3 = 17 N, east). Their resultant (R) is:

Three forces are: (F1= 21 N, east), (F2

© 51N, east
©40 N, west
# 30 N, west
© 17 N, east
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| Total questions in exam 25 [ Answered 22

Question No. 18

A cylinder of platinum-iridium, kept at the Bureau

o kilogram
» meter

» pound

second

of weights and Measures in France, gives the standa

rd of:
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Quéstion No. 19

The number of decimal places in (0.012)is
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Question No. 16

If r is a length, v is a speed and ¢ is time, the equation v = K/ + it is dimensionally correct if k has the dimension of:

@ LT*#
@ LT
e TLA
eL
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auespone. 17
Of the following S! units, the only derived unit is:
@ newton
o ampere
meter
kelvin
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| Question No. 15
A lake with approximately circular surface has an average radius 1~ 0.25 km and average dcpih h=5m.
The volume V = mr*h of this lake in liters(L) is approximately:

@ 102L
® 10'L
© 10°L
@ 10°L
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bt e 1
|1y solentific notalion we wiite the number 222 1 a8

o201 410"
0221 % 10°
2221 %107
2221 %10
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Guession No. 13

In the SI system of units, the mass, length and time are, respectively, measured in‘

pound, meter and second
kilogram, foot and second
pound, foot and second
kilogram, meter and second
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gtance ight travels 2 1 year, oo yesr =3 * 1 5, and
s @108 ) o light-year approxinately

rone tigyesr (42225 the
el lof Sk Ju ==
{ditaoce  speed )

o 10¥m

0 10%m

a10%m

o 10%m
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Exp?ess 1
|
|#394'cm
©3940 cm
©254 cm
#2540 cm

000'in. in centimeters (1 . = 254 cm):
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Question No. 1

90 N, west) & (F2= 120 N, south). Their resultant (R) is:

Two forces are: (F1=

(210 N, north of east)
» (30 N, south of west)

¢ (150 N, south of west)
o (150 N, south of east)
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o
An avera

ge solar day hes

+86400 hours
. 86400 minutes
. 86400 seconds
L 86400 days

S
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 FDe Sameter of 3 human har s 110 micromeders. this equals to-
 feet 1 e = 1000 moometers)

@11mm
oo am
@ 0001 mmm
a0 mm
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Guesbon No_ 18
A cylinder of platinum-iridium, kept at the Bureau of weights and Measures in France, gives the standard of veumoe of O

kilogram
meter
« pound IIE
second Iﬂ
2] |
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s 2 volume, the eguation A = r=%V is dimensionally correct if m equals
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the diameter of a h 10 micrometers, this equals to
Hint: 1 mm = 1000 r

0.11 mm
1.1 mm
0.0011 mm

0.011 mm
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Two forces are: (F1 =55 N, west) & (F2 = 33 N, north). The magnitude of their resultant (R)is:

ON
22N
84N

o
= o
]
2]
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Guestion Wo, 20

An atom's mdius Is 10 m. This equals, (1 nano = 10*, 1 micro (u) = 10’ nano,
Lo = 10F )y

0.1 um

1um

0.1nm

1nm
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Question No. 19

A quantity that requires both magnitude and direction is called

speed
scalar
mass

vector
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S LA ]

Vectors A and B are the horizontal and vertical components for vector C. The magnitude of C is

Qgiven by the relation
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b JEsalas) « |

Three forces are: (F1 =40 N, north), (F2 = 0, east) and (F3 = 50 N, north). Their resultant (R) fé

30 N, north-west
90 N, south
30 N, north-east
90 N, north
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vt EDm

A 7.5-g diamond is weighed on a scale of 0 1-g smallest division. The weight that is correct
within the scale’s precision is

679
729
799

B 5 1 o)
b .
Q 1.6/ 27y

onmm—

BUIDY.
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Question No. 24

If 1 um = 1000 nm, then 100 nm equals:
91 pm

©0.1pum

©0.001 pm

©0.01 ym

Scanned by CamScanner



Scanned by CamScanner



MKCL Ots

Physics_Quiz1_Sem1_2019

A length of 997.8 mm is equal to

0.09978 m
0.9978 m
99.78 m

9978 m

Scanned by CamScanner



